Dynamics, Dr Nasseri, Takehome test 1- Problems Ch12: 9, 18, 28, 59, 61, 70 and 75:

[image: image1.png]12-9. A particle moves along a straight line such that its.
position s defined by s = (r* ~ 3¢* + 2) m. Determine the
average veloity the average speed. and the aceel

of the particle when





[image: image2.png]12-18. A car is 10 be hoisted by clevator to the fourth
floor of a parking garage, which is 48 ft above the groun.
I the clevator can aceclerate at 0.6 {1/s, decelerate a
0.3 11/5", and reach « maximum speed of 8 [1/s, determine
the shortest time to make the T, staring (rom rest and

ending at rest
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[image: image3.png]*12:28. The acceleration of a particle along a straight
lineis defined bya = (2 = 9) m/s’ where! i n seconds.
AUr=0. 5=1m snd v=10m/s When r=9s
determine (2 th particle's positon, (b)the tota distance.
traveled, and (¢ the velocty:
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	[image: image4.png]12:89. The v-s graph for a go-cart traveling on a straight
Toad is shown. Determine the acceleration of the go-cart
s = S0m and.s =150 m; Draw the a-s graph
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[image: image6.png]12-61. The a-s graph for a train traveling along a
straight track is given for the first 400 m of its motion,
Plot the v-s graph.v = 0 at s = .
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[image: image7.png]12-70. A particle travels along the curve from A to.
15 It takes 35 for it 10 go from A t0 C, determine ts H
average velocity when it goes from B to C.

Time from B0 Cis 3-

010 s Ans





[image: image8.png]12-75. The path of a particle is defined by y* = 4kx, and
the component of velocity along the y axis is v, = c,
where both k and c are constants. Determine the x and y
components of acceleration.
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